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Afterwards, neither the Question Booklet will be
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Note : This paper contains Seventy Five (75) multiple choice questions, each
question carrying Two (2) marks. Attempt A// questions.

oAl : A YA THY UeEal (75) dgudEl WA fool ofRd. Yosh WA & (2)

Time Allowed : 2% Hours]

U SRd. @E U Wi

[Maximum Marks : 150

1.  Which one of the following is not a

form of Alienation ?

(A) From product

(B) From production process

(C) From self

(D) From manager

TITATATHRT HIUTAT GIUHADTT GHTT

AMEr ?

(A) ST

(B) 3cured Ufshadrg

(C) *=URA

(D) HTEATIRTUTYA

[P.T.O.



Match the following :

(a)
(b)
(0

(d)

(1)
(2)

3)

4)

List I
P. Gisbert
Parker, Brown, Child and Smith
Form and Miller
Galbraith J.K.

List II
The New Industrial State
The Sociology of Industry

Fundamentals of Industrial

Society

Industry, Labour and

Community

Codes :

A 3
B) (D
C) @)

D) @)

(a (b (0

2 @ @D

@) 2 @

1 @ O

2 G @

(a)

(b)

(o

(d)

(1)

2)

3)

4)
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The illumination experiment was

carried out N ...ceeuveeneeneennan... .

(A) New York

(B) California

(C) Chicago

(D) Washington

Under which heading the efforts

were made to rerive the structural-

functional theory ?

(A) Structuralism

(B) Post-structuralism

(C) Structuration

(D) Neo-functionalism

JAN - 14318/II1I—B

(A) =i

(B) =hfershifan

(C) Trhmm

(D) dfferes

FIUTIT IASTHIAATd GIIATHER -

yeRRIART faGIATe Aessiiton shiuarl

YT shell Tl ?

(A) TEAER

(B) SW-GEAMERE

(C) ITETRIO

(D) SAYHTERE

[P.T.O.



73rd Amendment was enacted in :

(A) 1988

(B) 1989

(C) 1991

(D) 1992

The Telangana Movement was

started against the ...................... .

(A) Nijam of Hyderabad

(B) Zamindars

(C) Moneylenders

(D) Intermediaries

JAN - 14318/III—B

(A) 1988

(B) 1989

(C) 199

(D) 1992

dC’{‘IUI \5‘”(“(’1"1 %. .................... W

fotama g& =l

(A) Tgmere=n e

(B) SHIER

(C) HEhi

(D) <<




Sengupta Commission was

appointed to look into ..................... .

(A) Industrial growth

(B) Agricultural crisis

(C) Science and technology

development

(D) Enterprises in unorganized

sector

Sex ratio in 2011 census of

population of India is :

(A) 1000 males — 927 females

(B) 1000 males — 933 females

(C) 1000 males — 930 females

(D) 1000 males — 940 females

JAN - 14318/II1I—B

(A) 3MENfier 9T’

(B) FfueEmia IR

(C) Tomm o ds=mmEn famm™

(D) TEfed ST e

IRAT 2011 =41 SIFUHTER Aehaeda
e TR g fodt o ?
(A) 1000 g&8 — 927 &=
(B) 1000 g&9 — 933 f&m=
(C) 1000 g&& — 930 f&m=n

(D) 1000 G&§ — 940 f&r=m

[P.T.O.



10.

Who is of the opinion that the life

world is a micro world where people

interact and communicate ?
(A) Garfinkel

(B) Habermas

(C) Alexander

(D) Giddens

Which statement is not correct about

sustainable development ?

(A) Conservation of ecology is

important in development.

(B) Improvement of the quality of
human life is important in

development

(C) Development should result in

higher per capita income

(D)

Development should reduce
inequalities in access to

resources

10.
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ST 7 3T g&H S 318, N9 @k
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(A) TRfRwRA
(B) BERH™

(C) 3T

(D) Tred
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& 2

(A) TEEROT Hai faehmmed Heem
S

(B) foerrames Ael Sfiamren Tuamyed
YU Hgcar=] 3T

(C) TIwrEmed TER ST 39 913

ElSIIIES|
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11.

12.

Neo-Marxism is primarily a reaction

against which component of Marxian

theroy ?

(A) Class conflict

(B) Exploitation

(C) Economic determinism

(D) State

Who argues that agency and

structure cannot be separated from

one another ?

(A) Giddens

(B) Foucault

(C) Derrida

(D) Alexander

JAN - 14318/II1I—B

11. J9FEae & YTHEAN  HEFH AR

12.

ToguTana IV Sehiadia Wdfsha

e ?

(A) & ol

(B) w&Ol

(C) mfefer frericomang

D) T

HAIUT ST FEAT AR faver

FA U ARG, S A H{UN ASA ?

(A) firem

(B) W=l

(C) sfer

(D) 3TT=T=

[P.T.O.



13.

14.

Which is the largest tribe in

India ?

(A) Gond

(B) Bhills

(C) Santhals

(D) Munda

The Commission appointed to

examine enterprises in the

unorganised sector is .................. .

(A) Sachhar Commission

(B) Srikrishna Commission

(C) Sengupta Commission

(D) Ambani Commission

13.

14.
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URA Faid Hidt STHd hivdl 2

(A) e

(B) e

(C) T

(D) eI

AR A S g

(A) T=R AR

(B) sfipsur M

(C) ST[a 3T

(D) STEMT AN
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15. Match the List I with List Il and | 15. w1 I for =t 11 wefiel Seehie S
select the correct answer from the Soodll a1 @I feeieal Hehdishlqd ard
codes given below : =g fHaer

List I (Theories) Tt 1 (Fagia)
(a) Liberal Feminism (a) SERHdETR! g
(b) Radical Feminism (b) STETeTHAETE] S
(o Marxist Feminism (¢ WA SiaR
(d) Post-modernist Feminism (d) SMYHhRIcRAR! SiaR

List II (Arguments) rdt 11 (wfaare)
(1) Class and Gender both (1) =i enfor e <=t
(2) Equality of sexes (2) e
(3) Deconstruction and metaphor (3) fa=m 9 ®uh
(4) Masculinity and violence (4) gEoa 9 feam
Codes : Hehdiah :

(@ b (o (d (@ b (o (d
@A @O @2 @ @ A @O 2 B @
B @ @1 @ A B @ 1 @ 3
©Cc D @ B3 @ o @ B @
D @2 @ @O 3 M 2 @ @O B

16. Development perspective defines | 16. fasmd gftesmiargan ferar o

WOINEN 8S .ooveveerneeeereneenenes : :
(A) Partners in development (A) s 9rfier
(B) Beneficiary of welfare schemes (B) HeATIRRI Arsiean aneeff
(C) Target population (C) @& ke
(D) Objects of charity (D) ST TREEUATE a5,
11 [P.T.O.



17. Match the List I with List II and

select the correct answer from the

codes given below :

(a)
(b)
(0

(d)

(1)
2)
3)

4)

List I
Giddens
Derrida
Althusser
Foucault
List II
The Constitution of Society
For Marx
Writing and Differences

Madness and Civilization

Codes :

(@ b (o (d

@A 2 O @ @

B) 1 2 @ )

© @O G @ @

M @ 2 B @
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17. =t 1 enfr =€t 11 Heftel sreshr=n Ssiee
ool & e feeiedn Hehdishiqd dRa
T feer

EICU |
(a) Tre
(b) Sfte
(0 AeYW
(d) HH
Jret 11
(1) T SIfEeTA A% HEEel
(2) T e
(3) Tafe enfor feww
(4) Hew onfo fafeamsem
Hahdieh :
(@ b (O (d
A 2 @O Q) @
B @O @ @ B
© 1 G @2 @

D @ 2 @ @
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18.

19.

Which of the following schedules of
the constitution deals with the
administration and control of
scheduled areas as well as the
scheduled tribes in states other than
Tripura

Assam, Meghalaya,

(A) 3rd and 4th schedule

(B) 7th and 8th schedule

(C) 5th Schedule

(D) 10th Schedule

Poverty line denotes ................... .

(A)

Prevailing standards of what is

not needed

(B) Minimum standard of calories

and nutritional intake

18.

19.

JAN - 14318/II1—B
TR TS RV ST ST,
T o g Higd s Uit STgfed

& I ST SR YR & ==

RICER I
(A) 30 T 4eft eEEn
(B) 7t 9 gof STt
(C) 5ot gt

(D) 1087 ST
Ts o § fde & e

(A) TS F9UR AR 3Tdciel HHh

(B) SoHIeh 9 Uifteshaean ferAM AR

T
(C) T 3TE™

(C) Adequate housing
(D) Inadequate money and power (D) STHIYMhRe J&r Ao =i
20. ‘Integrated Tribal Development | 20. ‘UaifcHer sTicamdl faehd Tehed’ YRAT
Project’ was launched in India in the BIRCEI gE el
year ................ .
(A) 3.9. 1975
(A) 1975 A.D.
(B) 3.9. 1980
(B) 1980 A.D.
(C) 3.9. 1983
(C) 1983 A.D.
(D) 1987 A.D. (D) 9. 1987
13 [P.T.O.



21.

22.

Which state has the highest
proportion of scheduled castes

population as per 2011 census ?
(A) Chhattisgarh

(B) Mizoram

(C) Punjab

(D) Uttar Pradesh

According to Weber, Bureaucracy is

(A) A response to administrative
requirements of Industrial

societies

(B) A response to demand for

efficiency and rational

organization

(C) A response to science and

technology

(D) A response to market forces for

augmentation of profits

21.

22.
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20111 STTTOHYHTO I ST
ST A= SR FHT0 Faifeeh
e ?

(A) BUETS

(B) s

OREIE]

(D) ITY

F&=a1  Hd,

TMHWIMET TS

(B) wEderHar omfur faaeh! Eeea=

AT HiaHe

(C) fagm enfor domEen gfaae

(D) TR ARIVITHIS! ITSTRUSHT IR

EIGEIH

14



23. Match the List I with List II and

select the correct answer from the

codes given below :

(a)
(b)
(0

(d)

(1)
(2)
3)

4)

List I

Giddens

Derrida

Habermas

Alexander

List II

Structuration

Neo-Marxism

Deconstruction

Neo-functionalism

Codes :

(@ b O @

@ @1 3 @ @

B) 3 2 @O @

© GO 2 B @

D @ & QO @
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93. I I 3707 T 11 Aelid SIehi=a1 SISl

Sl 9 et foeiean Hehdishqd ar

g et

(a) firew

(b) SR

(¢ TEH™

(d) TR

et 11

It 1

(1) TR
(2) o-HERETR
(3) fo=rm
(4) TeHeRFaTE

K3 -
.
-

(a)
A D
B) 3)
© @

D) 4)

()
3)
(2)
(2)

3)

(0
(2)
(1)
(3)

(1)

(4)
(4)
(4)

(2)

15

[P.T.O.



24.

25.

Which of the following is not an

example of intergenerational conflict

based on gender ?

(A) Mother forcing daughter to

laugh in a low voice

(B) Father banning daughter to

attend college

(C) Senior boss dominating young

colleague

(D) Mother-in-law forcing daughter-

in-law to leave job

Domestic violence includes which of
the following :

(1) Physical violence
(i) Mental Torture
(iii) Sexual Abuse

(7v) Social Exclusion

Select the correct answer from the

codes given below :
(A) (1) and (i)
(B) (3, (i) and (if)
(C) () and (iv)
(D) (3, (i) and (iv)

24.

25.
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e eTdeh] I 3STeLu feATHrareR
TR STR(Ue oo 3ST8Lul ATer ?

(A) 3T STIe Hellell og ST
TAUIT ORGS0l

(B) Ty Heiftet AeTforameraren SoAr
T

(C) aftss Aferam T&0 HeshraiaX
TS S0

(D) FR[A el Aehil ArSvare SoRawit
HL0

N ol

higleeh 1
HHERT B ?

(1) TR RN
(i) WS BB
(ifi) iR B

(v) mTRSTh FfStad

&R qEIeTdsh! el

Qe feeiea HehdrhmgT are S feret
(A) (1) =7 (i)

(B) (1), () 37T (i12)

(C) (4) v (4v)

(D) (2), () 7for (2v)

16



26.

27.

Habermas focuses on .................. .

(A) Structure and institution

(B) Macro-Micro

(C) Knowledge and human interests

(D) Culture and agency

Displacement is forcible removal of
population for developmental
projects. Which example from the
following list does not indicate

displacement ?

(A) Highway construction

rehabilitation

(B) Migration to new township

(C) Rehabilitation due to wildlife

sanctuary

(D) Rehabilitation due to dam

27.

JAN - 14318/II1I—B

(B) ¥I-Y&H
(C) I enfor AFer feagey

(D) T&hat STfur Shouor

fIhTIUHhea s AlhE&Idl T dh

A0 WU T, @ieiiel Aeiyeht

I forerm gfaa & T ?

(A) HEMTl YU JAaed

(B) 7oA TSHARTIHE T

(C) AYIARTATHeS TAaEH

(D) RO e

17

[P.T.O.



28.

29.

According to which five year plan
of India “With a growth rate
averaging 8.7 percent, India has
become one of the fastest growing

economies in the world”.

(A) 10th plan

(B) 9th plan

(C) 12th plan

(D) 11th plan

Select the pair of percentages for
schedule castes and scheduled tribes

in India in 2011.

(A) 18.2 and 16.2

(B) 16.2 and 20.2

(C) 29.2 and 16.2

(D) 16.2 and 8.2

28.

29.

JAN - 14318/II1—B
FHIUAT FHAISER ASHTIR  IRAT

YO FAET 8.7 THh IURA S

STt FaTd e STQUI STefeereen

el ?

(A) TErET IS
(B) erell ArSHl
(C) IR Frsr

(D) AHTET IS

AT 2011 Hied! STEoT=a1 STgfed Sl

[a N0

ST STTYad ST TFRhaRI=l Sl

frarer.

(A) 18.2 afur 16.2
(B) 16.2 (U1 20.2
(C) 29.2 (U1 16.2

(D) 16.2 AT 8.2

18



30.

31.

32.

Which theory is regarded as a
summary of Giddens’ sociological

writing ?

(A) Structuration
(B) Structuralism
(C) Deconstruction
(D) Post-modernism

Which state has highest number of
slumblocks in India as per 2011

Census ?

(A) Maharashtra

(B) Delhi

(C) Karnataka

(D) Gujrat

WID approach focuses on :
(A) Gender mainstreaming

(B) Gender segregation

30.

31.

32.
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HIUT TGRS fTe—a=a AN

AT GRS WA el dgd 2
(A) FTEAHRT

(B) WTEAER

(C) for=mm

(D) YRl

20111 SIFVHIER SASUg! JHFT=

Tl S T&AT HIvedl T Id 2

(A) HERIE
(B) faeeit
(C) HleHh

(D) TR

T3Sl (WID) Ffeeehia heler
Tdl ?

(A) famwE &g yewm S

(B) femume fades

(C) Incorporating women in (C) fammafasas Iuwuara fe=m=
development activities SLRC]
(D) Gender equality (D) famaE A
19 [P.T.O.



33.

34.

35.

The Telangana movement had

begun in 1946 in the .................... .

(A) Warrangal district of
Hyderabad state

(B) Bidar district of Hyderabad state

(C) Nalgonda district of Hyderabad
state

(D) Dinajpur district of Bengal state

Post-modernism is associated with

which society ?

(A) Post-Industrial

(B) Modern

(C) Industrial

(D) Capitalistic

Who attributed regional

inequalities in developing countries

to the ‘Spiral of cumulative

causation’ ?

(A) Gunnar Myrdal
(B) Samir Amin
(C) Karl Marx

(D) Amartya Sen

33.

34.

35.
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Ao AT 1946 HE
gE el

(A) TTEE T o foeel

(B) TgEe Tsadiel ey foremr

(C) e TSI Aeriel fSieg

(D) &M Tsana feasqR et

SYRICATG ShIVIT YehIeal HHIST
Heiferd 3T ?

(A) SRR

(B) smyfien

(C) sfreifirn

(D) Ao

foren fEa TseTdiel T f¥Teh ST HaY
"Fol HRGRRUIETAT el S hiof

e ?

(A) TR fiefa
(B) 9HR THH
(C) et A

(D) WA BT

20
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36. Foucault’s research interests were

36. Theh! AN SR UHEAN dF &THe

broadly in three areas of history.

Which are they ?

(I) Study of psychiatry

TYNeE Tt Bdl. o RO &5 3TRd ?

D =R 319

(I1) SR
(II) Medicine
(III) Penology (I T
(IV) Education (IV) farero
Select the correct answer according e e W‘ﬁ A SR e -

to the codes given below :

(A) (I and (II)

(B) (ID, (III) and (IV)

(C) (D), dI) and (III)

(D) (D, (III) and (IV)

(A) (D emfor (ID)

(B) (1), (IIT) 37for (IV)

(C) (D), (I) o (IID)

(D) (D), A1) 3s7for (IV)

21

[P.T.O.



37. Deviance

38.

is relative because

There is no absolute way of
defining confirmity and deviant

behaviour

(B) Law has loopholes

(C) Deviance is absolute

(D) Deviance is seen  as
dysfunctional to society

In the current neoliberal

globalization phase, women are
forced to search for jobs. This is

called :

(A) Feminization of poverty

(B) Women as partners in

development

(C) Mainstreaming gender

(D) Gender equality

37. TaueTHA ¥ el e SR

38.
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(A) foraermd acdq oo sT&qar A=t

(alla

(1

Td A Hial Ad el

(B) <RI Yoodlel 3THAId

(C) fouerm fAfy=a o/

(D) THSTETS! fraenta § STehEicae 3Te

SIS "IOISCQIU-ICIOIIQ'\I \TII‘IR'M';\IGh{UIIVJII
XY T AR TNemd AnTd. el

HI WA ?

(A) TG SR

(B) form wus fasrmrdia wriier
(C) famve g&a yamm ST

(D) famyme TqFEar

22



39.

40.

Which one is the correct statement

about Neofunctionalism ?

(A) Social institutions have

universal positive functions

(B)

Deviance and social control are

realities within social system

(®)

Only a commitment to common
values provides a basis for order

in society

(D)

Order and stability is essential
for the maintenance of the

social system

Who wrote the book titled “An Essay

on the Principle of Population” ?
(A) Marx

(B) Doubleday

(C) Malthus

(D) Ricardo

39.

40.

JAN - 14318/II1I—B

@eilclent shivd fauMm Tagehraiac-

fao=ft sReR o8 ?

(A) 9GS TEAT Hraeh ThNIcHS

HE HwAd AHA

(B) fauerm= snfor wmnfsier femsmor ©

IS, Feoedmeia ardd 3Te

(C) hael FHH TEaTw STHURT Sifeeren

THTSTAIA ST STYR 379d

(D) THNTHERIRE ST hivaTHs e
anfor =R} fevIe ST d

T g &mon fafea ?
(A) W
(B) ot
(C) Hreu™

(D) femret
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41.

42.

The civilization of India is divided

into :

(A) Little tradition and great

tradition

(B) Big tradition and small

tradition

(C) Great and short tradition

(D) Superior and inferior tradition

Term ‘Glocalization’ suggests

Homogeneity between local and

global culture

(B) Major modification of global

products for local markets

(C) Uniformity between local and

global education

(D) Professionalization of education

41.
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TR el e faumre eme ?

(A) oY AU A Feqd W

(B) A1l Wuq 37for ogM o

(C) =¥ 3T |iet IU

(A) Tenfaer smfor Sfvas Thdmsd

THB I

W

(B) Terfer IreiucHTet df¥eeh Scae-rd

JHE hIed

(C) Turfas enfor afyass feraromq

THETA]

(D) fererome =ArerEmeRTo

24



JAN - 14318/II1I—B

43. Who used metaphorical | 43. wiehiea IAfgH SeAT=T S ATETHS
investigations to study everyday life EUHTEF ST ST RO Sl 2
of people ?

(A) e TRAa
(A) Erving Goffman
(B) Garfinkel (B)
(C) Luckmann (C) kAT
(D) J. Alexander D) 3. R

44. The rise of the village is bound up 44 B e T =11 e

with the rise of ..........cccccciii . eden .

(A) nomadic mode of production A) -

(B) agricultural economy (B) o reforemen

(C) food gathering economy (C) 3T THeHER SERT sefraEen
(D) barter economy (D) SfafTHaER T stefeewen

45. Jajmani system was .........ccccuvueeneee. | 45, S — o
A i t
(A) an economic system A) T aidE
(B) a social system (B) T g
(C) a political system (C) THE L
(D) a class system (D) o =Toren
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46.

47.

48.

Jajmani system is characterised by :
(A) Money economy
(B) Barter system

(C) Political system
(D) Religious system
Customs are also called ..................
(A) Culture

(B) Values

(C) Folkways

(D) Mores

What is the main objective of

Dormitories in tribal community ?

(A) Sex education

(B) Entertainment

(C) Sense of living together

(D) Sharing of responsibility

46.

47.

48.
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S e afired

(A) TemeR smenfd SFeen

(B) sgfafarer smemia sHereen
(C) TSTehly SHeE

(D) enfder =Faen

(A) Tt

(B) T

(C) dHER

(D) ARl

STfCaTE TS ATl & 353
IV G ?

(A) wifier faremo

(B) HTHIH

(C) UehfAd TEUATET Yol

(D) SRR drevt
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49. The philosophy of phenomenology

50.

focuses on :

(A) Intersubjective consciousness of

individual

(B) Social structure

(C) Conflicts in society

(D) Functions of social institutions

Eco-Feminism combines insights

from ............ .

(A) Cultural feminism and Marxism

(B) Cultural feminism and

Sustainable development

()

Postmodernism and feminism

(D)

Ecological perspective and

socialist feminism

JAN - 14318/II1I—B

49. ARG TEM Eefeidsh! IR

50.

Higd B ?

(A) ST SATALATHSS S0

(B) wmHIfSier HX=1

(C) TN gos

(D) HIfSies wEer=l

a AN A N
RIS TTe Telicidsh! Shivfe]

gl fHems oe 2

(A) Hipfas TR 9 HedarR

(B) Tithfds o a9 vmwad faswm

(C) STYfTeRicRac! d SiaR

(D) RS giesH 9 qaSER]

L1 of
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51.

52.

53.

The process of globalization

promoted ................. .

(A) Corruption

(B) Migration of people

(C) Importance of nation-state
(D) Global friendship

Gini index/Gini ratio is related to

(A) Inequality and poverty
(B) Development

(C) Progress

(D) Modernization

Which one of the following is not

impact of globalization on women ?

(A)

Created new areas of women’s

advancement

(B) Lead to new challenges for

women

(C) Not changed fundamental

inequality of gender

(D)

Visibility in media

51.

52.

53.
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SRR 0T fshad WTeliciueh! hIvmH
qIcaTerd shol 38 2

(A) Y=MER

(B) AV Tl

(C) T-TId Hewd

(D) STfdaes #it

a N A N ~_n o d
LltlctYen] enlUldl STTIden [en VIl [-AL A

B g A ?

(A) Teraren W= et &t fmfor sheft
(B) foramamdt ¥et streem fafor sheft
(C) Harya famre fosmar ageret e

(D) AIEgH <RIl
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54. Who used concept of indexicality in

ethnomethodology ?

(A) Garfinkel

(B) Erving Goffman

(C) Alfred Schutz

(D) Peter Berger

JAN - 14318/II1I—B

54. TRICHRTETHE YeToGHd & Hehedl

IO AL ?
(A) TR

(B) Xfom Trwee
(C) 3ehe YA

(D) TR &SRk

55. National Policy on Education 1986 55. 1986 = TS sterfors siToma
laid stress on :
TeATeTeh! ShivTe SeieR R & e 2
(A) Giving special attention to Arts
. (A) el 9 AHargEn freomer foviy
and Humanities
(B) Giving attention to R
management education
(B) oamqd feomer @9 <O
(C) Improving quality of education
(C) Hd Trer freqom=it orerdn areferor
at all stages
(D) Restructuring the curriculum (D) SEHHT d &A1 T
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56. Match List I with List IT and select

the correct answer from the codes

given below :

(a)
(b)
(©
(d

(1)
2)
3)

(4)

List I
Foucault, Michel
Giddens, Anthony
Alexander, Jeffrey
Habermas, Jurgan
List II
The Consequences of Modernity
Discipline and Punish
Human

Knowledge and

Interests

Theoretical Logic in Sociology

Codes :

(A) (2)
B) @
©) @)

D) (2)

(a b (o

1 @ O

@) @ @

@) @ @

1 G @

JAN - 14318/III—B

56. It I e7for Iet 11 = Sien Sesell
3T @t feeTean FehdishMYd ARE I
IREEIIE

(a)
(D)
(0
(d

(1)
2)
3)
(4)

It 1
!, TR
fite=g, oFei

fal

TS, AR

EeT,

R
T e A% ArsfHer
fefawfa sfe owr
fasitfera @ifSer 37 ifvrsiarst

- -
-
-

A) (2
B) @
© 2

D) (2)

(a b (o

1) @ 3

@) @ @

@) @ @

L G @
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57.

58.

Which of the following Ghurye

considers more proper on solution of
the problem of tribals ?

(A) Revivalism

(B) Isolation

(C) Assimilation
(D) Accommodation

Match the List I with List II and
select the correct answer from the
codes given below :

List I
Srinivas M.N.
Ghurye G.S.
Desai A.R.
Ambedkar B.R.

List 1I

Annihilation of Caste

(a)
(b)
(©
(d)

(1)
2)
3)
(4)

Peasant Struggles in India
The Mahadeo Kolis

Religion and Society Among the
Coorgs of South India

Codes :

(a)
(A) (4)
B) (1)
C) @)
D) (2)

()
3)
(2)
(1)
3)

(0
(2)
3)
(4)
(4)

(d)
(1)
(4)
3)
(1)

57.

58.
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A STCaT= TETeRaT Il S
Irg 9 foERE Hden S ?

(A) JTESSiterarg
(B) faamm &0
(C) HTHieRTor

(D) Jes@ =0
It 1 3Tfor et 11 Ao Seehi=an St

S[e3al o AT fGeTedl Fehdlehlqd A

=g et

EICU|
Siferg ..
(o) T3 ST
(0 <EE TIR
(d) Tae &, R

RIC
siffece™ offh &R
T TRRE hiciS
fRefiom sfve SRl 3T T il
3% WY sfea
Hehdlieh :

(a)

(A) 4)
(B) (1)
©) 2
D) @)

(a)

(1)
(2)
3)
(4)

()
3)
(2)
(1)
3)

(0
(2)
(3)
(4)
(4)

(d)
(1)
(4)
3)
(1)
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59. According to

M.N. Srinivas

important critera to be a dominant

caste include :

I. Land ownership

II. Strength of number

III. Education

IV. High place in local hierarchy

Select the correct answer from the

codes given below :

(A) I, I and IV

(B) I, III and IV

(C) II, III and IV

(D) I, IT and III

JAN - 14318/III—B

59. TH.UA. #ifard Ar= 7d, GHE! S

II1. f3retor

IV. Tqfieh o= =9 T

el feeied Fehdmyd 4rd 3w et ¢

(A) I, I a7ftr IV

(B) I, III affor IV

(C) II, II effor IV

(D) 1, I 377 101
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60.

61.

Who among the following played a

key role in the professionalization of

Sociology in India ?

(A) Srinivas M.N.

(B) Ghurye G.S.

(C) Desai A.R.

(D) Mukherjee R.K.

The unfavourable alteration of

environment due to human activities

is termed as :

(A) Ecological Disturbance

(B) Catastrophe

(C) Ecological Degradation

(D) Pollution

60.

61.
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YA THISIISTT  SATaHT ek [eh U]

FHIUATT TITATAURT IV Heare Y]
e ?

(A) #ifam ..

(B) ¥4 Si.Tw.

(C) 3|E T.3R.

(D) H&ST AR,
TGO HHE! SFagRITeS  gIv=al

TR IcHh SICel T

(A) aRfeerdiferm

(B) 3Tt

(C) URTEmSa Srerdl

(D) 9o
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62. 20% of the population in the

63.

developed nations consumes 86% of
the world’s goods. This is the ideal

example of .....c.ccceeeeeeeeennnnn. .
(A) Global poverty

(B) Global disparities

(C) Endemic poverty

(D) Dimension of poverty

Top five states reporting slums

Andhra Pradesh, Chhattisgarh,

M.P. Odisha, West Bengal

(B) Chhattisgarh, Maharashtra,

Odisha, Kerala, Assam

(C) Odisha, West Bengal, M.P.,

Bihar, Jharkhand

(D) Chandigarh, Gujrat,

Jharkhand, Assam, Kerala

JAN - 14318/III—B

62. Tosrfad TemHENA 20% TAHEEAT ST

63.

(A) SR <TE

(B) SHTfdes dwrEd

(C) geurss iy

(D) IMEE™ g

~ aWay ey o £
SIS HG AN Aen  HlenhsdRld  Hqld Hé'

AU 9 T

(A) STHYRY, DTS, ALY, TSI,

. S

(B) ST, HERISE, SIS, Hids,
HHMH
(C) ofifesm, 4. e, AeAYQY, fo@R,

B

(D) =EATE, TSR, TREE, 3THH, Hicd
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64. Most common cause of blindness in | 94 YRATC SEET ezl Heed = Rl
India is ..ccooveveeeennnee A .

(A) Anaemia (A) e (it
(B) Vitamin A deficiency (B) ‘31" e e HHA
(C) Glaucoma (C) rafeig

(D) Cataract (D) Hritfeig.

65. Various ethnic groups, caste groups | 69 RdI faferer sifersh wg, S w9,
and religious groups live peacefully. RUEE L ST TEard. ATl
What is this called ? e ?

(A) Peacefulness (A) TAdareTg
(B) Secularism (B) frerfeng
(C) Humanitarianism (C) HHedTE
(D) Pluralism (D) <gdedrs

66. India is not an example of | 66. ¥d g I ST T

.......................... N —
(A) Cultural pluralism

(B) ®fHeh agdcads
(B) Religious pluralism

(C) T HEHEI/HEHI Jeed
(C) Dominance of one group/culture
(D) Linguistic pluralism (D) Ao SETETS
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67.

68.

The Preamble of our constitution

states that Indiaisa ...cccccevueeeenn..... .

(A) Sovereign and secular

(B) Sovereign, socialist, secular,

democratic republic

(C) Secular and democratic

(D) Secular, sovereign and

democratic republic

The problem in Indian socio-

political life is .......cccceenne.e.. .

(A) Secularization is complete

(B) Secularism is irrelevant for

India

(C) There is secularism but not

enough secularization

(D) Government does not support

secularization

67.

68.
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AT TSTEE= YrTfaehd YR § Th

(A) grEgm g faeH

(B) Y™, gaTSianel, fee, cenemer
TR
(C) Taerdt emfor Arememel

(D) fAerdf, wreidtm e Asmemel

HRATH TSTeh - HHISTeh ST T

(A) FreeiRTo qui ol oTe

(B) wRamErer fAendiereor wqdes m&T

(C) THemfae o1e, W [ e

EINSEEIE]

(D) I THeHTRTomen aifésn 2q =@l
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69. The Kheda Satyagraha was | 69. @<l YAWE heal Y& el ?
started in :
(A) T 1919
(A) March 1919
(B) A= 1918
(B) March 1918
(C) st 1919
(C) April 1919
(D) May 1920 D) | 1920
70. Miller studied Jajmani system in : | 70. THeRA SSAT Ol ASE HE
Hem ?
(A) 1947
(A) 1947
(B) 1952
(B) 1952
(C) 1954
(C) 1954
(D) 1956 (D) 1956
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71.

72.

73.

Which among the following pairs is
not correctly matched ?

(A) Giddens Structuration

(B) Derrida — Deconstruction

(C) Habermas — Neo-Marxism

(D) Alexander — Structuralism

Who is the author of ‘Neo-

colonialism in West Africa’ ?
(A) Samir Amin

(B) Gunnar Myrdal

(C) Eric R. Wolf

(D) Andre G. Frank

Which of the following is not a factor

affecting population growth ?
(A) Ethnicity
(B) Fertility
(C) Mortality

(D) Morbidity

71.

72.

73.
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WTCACTIehT IV STET SR STSerel
& ?

(A) firesw —  FEATR
(B) sfter — fa=mm

(C) TeRT™ — T9-UEREg
(D) SrfRiEy  — WTEER

‘fre-wmaeifae™ 39 O Siftkel’ @

TT@eh ShIv 3Med ?
(A) FHR T

(B) TR frie

(C) T+ . Jeh
(D) 3Tis . ek

WTATTUeh] VAT Teh Heh  clehde

JErael qRuHeRE A ?
(A) =TRTHa

(B) 9

(C) =l

(D) feepat
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74. Who was of the opinion that

75.

along with industrialisation,

agricultural development is

essential for creation of employment

and productivity ?

(A) Mohandas Gandhi

(B) Adam Smith

(C) Gunnar Myrdal

(D) Andre G. Frank

In which year ‘Family Planning’ was

renamed as ‘Family Welfare’ ?

(A) 1975

(B) 2011

(C) 2001

(D) 1977
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74, QUSMR {07 Ieueeha=an fAfddaat

SENfTeReRoeReE ot fashraReie

AETIE 3TME Y U= A Bl 2

(A) TreTe™ et

(B) 3few f&y

(C) TR fheia

(D) 3T% Sft. Theh

75. ‘@ea fEe’ 9 ‘HEd weam’ s™

ATHRLTT HIHT IO LA A ?

(A) 1975

(B) 201

(C) 2001

(D) 1977
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